

# Republic of the Philippines Province of Benguet

La Trinidad





(Drugs, Medicine, Medical Supplies and Equipment)



#### INVITATION TO BID

1. The Bids and Awards Committee (Drugs, Medicine, Medical Supplies and Equipment) Through its Regular Fund intends to apply the hereunder amount being the Approved

Budget for the Contract (ABC) to payment for the hospital projects:

Ite No	 Projects	Approved Budget for the Contract (ABC)	Cost of Bidding Documents	
1	PURCHASE OF DRUGS AND MEDICINES (PR NO. 2022-02-0455)	Php 1,446,665.80	Php 5,000.00	

Bids received in excess of the ABC shall be automatically rejected during bid opening.

- 2. The BAC (DMMSE) now invites bids for the above stated projects. Delivery will be 14 days for upon receipt of Notice to Proceed. Bidders should have completed within three (3) years from the date of submission and receipt of bids a contract similar to the Project. The description of an eligible bidder is contained in the Bidding Documents particularly in Section II. Instruction to Bidders.
- 3. Bidding will be conducted through open competitive bidding procedures using a nondiscretionary "pass/fail" criterion as specified in the Implementing Rules and Regulations (IRR) of Republic Act (RA) 9184, otherwise known as the "Government Procurement Reform Act". Bidding is restricted to Filipino citizens/sole proprietorships, partnerships, or organizations with at least sixty percent (60%) interest or outstanding capital stock belonging to citizens of the Philippines, and to citizens or organizations of a country the laws or regulations of which grant similar rights or privileges to Filipino citizens, pursuant to RA 5183.
- 4. Interested bidders may obtain further information from the BAC (Drugs, Medicines, Medical Supplies and Equipment) and inspect the Bidding Documents from Monday to Friday from 8:00 a.m. - 4:00 p.m.
- 5. A complete set of Bidding Documents in the form of Electronic Copy CD (Compact Disk) may be purchased by Interested Bidders starting March 2, 2022 - March 15, 2022 8:00 a.m. - 5:00 pm and upon payment of a nonrefundable fee for the Bidding Documents as shown above.
- 6. The BAC will hold a Pre-Bid Conference on March 2, 2022, 9:00 a.m. at the BeGH staff dining and/or through video conferencing via Zoom Meeting which shall be open to prospective bidders.

PRE-BID CONFERENCE

**Meeting Information: Meeting ID: 934 64027984** Password: BACHEALTH

7. Bids must be delivered to the Bids and Awards Committee on or before March 16, 2022, 8:00 AM Philippine Standard Time (PST). All bids must be accompanied by bid security in any of the acceptable forms and in the amount stated in the ITB clause 18.

### Late bids shall not be accepted.

The bidder shall submit a Bid Securing Declaration

Or

Any form of Bid Security, in an amount not less than the required percentage of the ABC in accordance with the following schedule:

Form of Bid Security	Amount of Bid Security (Not less than the required percentage of the ABC)
(a) Cash or cashier's/manager's check issued by a Universal or Commercial Bank.	
(b) Bank draft/guarantee or irrevocable letter of credit issued by a Universal or Commercial Bank: Provided, however, that it shall be confirmed or authenticated by a Universal or Commercial Bank, if issued by a foreign bank.	Two percent (2%)
(c) Surety bond callable upon demand issued by a surety or insurance company duly certified by the Insurance Commission as authorized to issue such security.	Five percent (5%)

8. Bid opening shall be on March 16, 2022, 9:00 a.m. at the Staff Dining, Benguet General Hospital, La Trinidad, Benguet, Philippines and/or via Zoom Meeting. Bids will be opened in the presence of the Bidders' representatives who choose to attend at the address as stated. If to attend the Opening of Bids physically, no more than two (2) representatives shall be allowed.

Meeting Information: Meeting ID: 934 64027984 Password: BACHEALTH

- 9. The BAC (DMMSE) reserves the right to accept or reject any bid, to annul the bidding process, and to reject all bids at any time prior to contract award, without thereby incurring any liability to affected bidder or bidders.
- 10. For further information, please refer to:

#### FRIEDA G. CHINANGLAS

Head, BAC Secretariat

Tel No.: 074-422-4722 to 24 local 1102

Fax No.: 074-422-5506

Email adds. begh.bac@benguet.gov.ph

### Places of posting:

- . BeGH BAC Bulletin Board
- . Provincial Capitol Bulletin Board
- . La Trinidad Municipal Bulletin Board
- . Baguio City Hall Bulletin Board
- . Baguio General Hospital BAC Bulletin Board
- . PHILGEPS
- . www.benguet.gov.ph
- . www.facebook.com/beghhealthcareforall

Approved by:

ATTY BRIAN J. CRUSPIN BAC Chairman

# PRICE LIST

Item No.	Unit of measureme nt	TECHNICAL SPECIFICATIONS	QTY	ABC per Unit Cost	Total Cost (ABC)
1	tab	Acetylcysteine 600mg	5,000	25.00	125,000.0
2	tab	Allopurinol 100mg	3,000	2.00	6,000.0
3	tab	Aluminum Hydroxide + Magnesium Hydroxide 200mg/ 100mg	1,000	10.00	10,000.0
4	tab	Amlodipine besilate 10 mg, scored	20,000	2.00	40,000.0
5	tab	Amlodipine besilate 5mg	20,000	2.00	40,000.0
6	bot	Ascorbic Acid 100mg/5mL, 120mL	396	34.00	13,464.0
7	tab	Aspirin, 80mg coated	1,000	2.00	2,000.0
8	tab	Atorvastatin 20mg	20,000	4.00	80,000.0
9	tab	Atorvastatin 40 mg	1,000	6.00	6,000.0
10	tab	Azithromycin 500mg	5,000	11.00	55,000.0
11	tube	Betamethasone valerate 0.1%, ointment/cream, 5g to 15g	20	98.39	1,967.8
12	tab	Butamirate citrate 50 mg	1,000	12.00	12,000.0
	COLD	Calcium Carbonate + Vit D (eq. to 600mg elemental			
13	tab	calcium + 400 I.U. vit D)	3,000	6.00	18,000.0
14	tab	Carvedilol 6.25mg	3,000	3.00	9,000.0
15	vial	Ceftriaxone 1g with Diluent	500	20.00	10,000.0
16	tab	Cefuroxime axetil 500mg	1,400	11.00	15,400.0
17	cap	Celecoxib 200mg	3,000	3.00	9,000.0
18	tab	Cetirizine 10 mg	5,000	1.50	7,500.0
19	bot	Cetirizine 5mg/5mL, 60mL	324	44.00	14,256.0
20	tab	Cinnarizine 25mg	500	1.50	750.0
21	cap	Clindamycin HCl 300mg	1,000	5.00	5,000.0
22	tab	Clonidine HCL 75 micrograms	3,000	6	
23	tab	Clopidogrel 75mg	3,000	2.00	6,000.0
24	tab	Co-Amoxiclay 500/125mg	1,200	8.00	9,600.0
25	tab	Colchicine 500 microgram	5,000	2.00	10,000.0
26	amp	Dexamethasone Sodium Phosphate 4mg/ml, 2ml	40	50.00	2,000.0
27	tab	Fenofibrate 160mg	3,000	8.00	24,000.0
28	cap	Fenofibrate 200mg	3,000	8.00	24,000.0
29	сар	Ferrous Sulfate+ Folic Acid (60mg elem.Iron + 400mcg Folic acid), blister pack	10,000	3.00	30,000.0
30	bot	Lactulose 3.3g/5mL Syrup, 120 mL	216	120.00	25,920.0
31	tab	Losartan +Hydrochlorothiazide 50mg/12.5mg	20,000	4.00	80,000.0
32	tab	Losartan Potassium 50mg	20,000	2.00	40,000.0
33	tab	Losartan Potassium 100mg	20,000	3.28	65,600.0
34	cap	Mefenamic acid 500 mg	7,000	1.00	7,000.0
35	tab	Metformin HCl 500mg	20,000	3.00	60,000.0
36	tab	Methylprednisolone 4mg	500	9.00	4,500.0
37	bot	Multivitamins + Minerals syrup, 120mL	252	49.00	12,348.0
38	tube	Mupirocin 2% Ointment, 5g	120	53.00	6,360.
39	cap	Omeprazole 40mg	30,000	4.00	120,000.
40	sachet	Oral Rehydration Salt (ORS-75 R) 250mL, 25s	1,000	5.00	5,000.
41	tab	Paracetamol 500 mg	20,000	1.00	20,000.
42	tab	Prednisone 20 mg	1,000	6.00	6,000.
43	tab	Rosuvastatin Calcium 20 mg	10,000	4.50	45,000.
44	tab	Simvastatin 20mg	20,000	3.00	60,000.
45	tab	Simvastatin 40mg	10,000	5.00	100,000.
46	tab	Trimetazidine HCl 35mg	30,000	5.00	150,000.
47	сар	Vitamin B-complex (B1 100mg + B6 5mg + 50microgram B12 )	10,000	3.50	35,000.
TOTA	AL.				1,446,665.8